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monliE 4 & B |EURE £ & B O|EEE # & O |4muR|lE # & B || £ & B O|EHEE & & H
1| JEsEm 419724 | 41{ETRE 29,600 | 81|tk 11478 | 121|=24er 6,000 | 161|211 3,000 | 201 |pEHEK 1,000
BEE 212,000 | 42|mERET 20474 | 82| Bigem 11,200 | 12284088 6,000 | 162|sripmsen= 2,000 | 202|psE 1,000
Kl 200,000 |  43[3ENEH 26901 | 83|18k 11,000 | 123|582 5,737 | 163[ 5% 2,000 | 203| AL 1,000
P L SETIRVA 200,000 | 44|t 25,000 | s4|EpEE 11,000 | 124k 5698 | 164|Z=EHE 2,000 | 204|E54)E 1,000
S| R 163,974 | 45|217K3r 25,000 | 85|&Es 10,500 | 125|S 55 5,000 | 165[0 L3 2,000 | 205 %5 1,000
6|z T 160,676 | 46[&EH 25,000 | 86| ez 10,100 | 126| %804 5,000 | 166|#h =4 2,000 | 206 s EI AT 1,000
PIRRTE 123.874 | 47| F%ht 24901 | 87|3rEpR 10,000 | 127| Z5ENRI 5,000 | 167|#kikEE 2,000 | 207|815 1,000
8| BRI E A E] 123274 | 48|%iEE 22714 | 88|sBh 10,000 | 128|Z5pRE 5,000 | 168|ABEHK 2,000 | 208|E&(E 1,000
|iEEET 123,237 | 9|5 22,000 | 89|bR3EHE 10,000 | 129|233 5,000 | 169|fEHEHA 2,000 | 2093 1,000
10|k 120,000 | 50|peEse 22,000 | 90|#EEHD 10,000 | 1303k & 5,000 | 170{g e 2000 | 210|248 1,000
11| B 108,425 | 51 |Bfighss 21,850 | 9l|szzmEsameE | 10,000 | 131 |&mmamisso 5,000 | 171|5EH#E 2,000 | 211[3EH32 1,000
12| BkE S 100,000 | 52| 21477 | 92|45 10,000 | 132[3kRzss 5,000 | 17238 2000 | 212]steE 1,000
13| S5 100,000 | 53| S5, 21439 | 93|pEsss 10,000 | 133 | pi 5,000 | 173|bfiELe 2,000 | 213|5EEE 1,000
14| s 100,000 | 54|Z=pe 20,000 | 94| &55R1E 10,000 | 134|fERs e 5,000 | 174|BEESE 2,000 | 214|gAEqE 1,000
15| R 97478 | 550w 20,000 | 95| &5ERHA 10,000 | 135|# K% 5000 | 175|psgger 2000 | 215\ ES 600
16[EIkE 67478 | So|mmeiHrEaeEer | 20,000 | 96|ssE e 10,000 | 136|EH 2 5,000 | 176|&8HK% 2,000 | 216|285 8E 400
17[FEr 66467 | 57|EHGELEG 20,000 | 97| e 10,000 | 137]srmeereme-sad  5000] 177| 2w 2,000 | 217|EER = 400
18|BRIEFS 64,939 | 58[ 0k 20,000 | 98|#agE 10,000 | 138]2pat 5,000 | 178|EZ=H 2000 | 218{F5H 200
19| b gr 60,500 | SOl ommm e | 19155 | 9olepar= 10,000 | 139|azEes 5000 | 179|584 2,000 | 219 fEes 200
20[H=F=E 56,352 | 603 EER 18,874 | 100|gEmr 10,000 | 140|gtrekE 5,000 | 180|135 E ) 2,000 | 220| b4k s 200
21 [PRiE 50,901 | 61[p55hk 18,100 | 101|gEE 10,000 | 1413 4939 | 181|zemtsse 2,000 | 221|3ERKEL 200
20|12 AR B0 A2 ERE| 50,055 | 62| A e Rk 17,000 | 102|HHHEEE 10,000 | 142|FERI= 4900 | 182|Ze¥RzE 2000 | 2»|EEmE 200
23|zEm 50,000 | 63|45& 0 16,100 | 103| =54 9,874 | 143| iz 4200 | 183[3L 2,000 | 223|s g% 200
24| b4l 48978 | 64| BEET 16,000 | 104G 0874 | 144|=HFE 4,000 | 184[BEIKST 2,000 | 224|2% 200
25 [Brife 44874 | 65|irEe 16,000 | 105|fiE 9650 | 145|ABH4: 4000 | 185|BpKi#E 1,600 gt 4,814,489
B 42,874 | e6|pmzs 16,000 | 106| B~ 9,000 | 14651 4,000 | 18634 E 1,600
2IHER 0352 | e7|2EE 16,000 | 107|pEzth 9,000 | 147|pH3ETr 4000 | 187|ABEEZS 1,500 | BtR S AR B BT SRR
28| &S 41478 | 68|RERE 15,900 | 108 |zt 9,000 | 148|F ik 4000 | 183|BiEEe 1,500 {858 FEREL I AL 3FE (A
29| B 40,000 | 69| TEEK 15,000 | 109[t326 9,000 | 149|455 E 4,000 | 189| F &k 1,000 | 120 B 2 @A F i, o
30|25 H B 39,874 | 70[mpEEE 15,000 | 110[5F4k (= 9,000 | 1503374 3,600 | 190[= k) 1,000 | sssssss - ppRRS R B 5 4
31 E.Lfaj 38,000 | 71 ?Bétgi 14,939 | 111|E# 8,000 | 151 E;\mﬁ 3,000 | 191|ZERkx LO00 | 473754560 » FRATES%E
32| B E L 34,678 | 72| mpEEE 13478 | 12[BEE& 8,000 [ 152|#k:JEiEL 3,000 | 192|ZFEH LOO0 | grrste = i1 05« 1066 4
33 | bR 33,650 | 73|ZakpE 13,000 | 113|883z 8,000 [ 153|EhEsE 3,000 | 193|748 1000 fﬁfiiﬁf EI4T » 2%
34| bR L 33478 | 74[3EEH 13,000 | 114[tssE 7,000 | 154|850 & 3,000 [ 194]F: 1,000 g? e 5’3
B|Ben 3378 | 75| wmie 12,939 | 1S BIR 6.000 | 155|fTpk 3,000 | 195]phfir Looo | ZARLEXBIRTEBFEEAE
36| HRIESS 30,600 | 76|itsnnsermarazm | 12,630 | 16|15 6,000 | 156|3EHHHE 3,000 | 196|#kEREL 1,000 | 7 S f,ﬁfmg 7@?“%
37|EE 30,000 | 77|41 12,000 | 117]%=E5 6,000 | 15736k 3,000 | 197 pkpEse 1,000 | #oin > 5P ANRIBHERE
38| ZEHER 30,000 | 78|=ists 12,000 | 118[#kEHE 6000] 158|i{zyl 3,000 | 198[trEE 1,000 | BAIEIEH ERH AR FATEL
39| FLE EIf] 30,000 | 79[sEHREE 12,000 | 119 #kiEok 6,000 | 159|BhiEEE 3,000 | 199|EE4ERL 1,000 IHFE -
40[HTE— 30,000 | 80|#&MR 12,000 | 120|#HA % 6,000 | 160|822 3,000 | 200[zF£2% 1,000




